Brackets (B)

Skerion n | Choose e covrene arswer for the following calealations:

[ (3+2)x(3-5)= 1 [ 7 ][ 10 ] -

[ (-6+2)x-2= TEIERE

| (-8)?= | 64 [ 16 |

{ A(-4+7)= R

[ (8--3)-0 = IR

[ (14-8x2)-1 = )8 ][ 11 ]|

[ 5(75-81)2 = | 70 || 180 ||

[ (42 —-77) x 10 = | a0 [ 40 ||
B o | Bsert bradkels to make these calelations ire: Some questions need o pairs of brackets]
1)10-2+3-7=-4 6) 2 - 14° =144

2) 8-1x 4 x5 =-60 7) 7+ 12 =8

3) 2 x6--12 =-36 8) 2+ 234+ .22=14

4) 54 + 4 - 13 + 3 =0 9) 11 - -6 +12 - 2 =12
5) 23 — 38 x -8 =120 10) 3% — -33 + -8 + 52 =12

©Visual Maths Resources
Www.cazoommaths.com Algebra - Order of Operations - Brackets (B) GCSE Tier: Foundation




